HHEFOLEM FHERREEEERREMNE
XHEE - SHSEE

BEES Rt X HEE(H) =
1|BRAFH 2,208,000
200ErEME™M 1,020,000
3|#BEH 3,155,000
4|1LEH 4,045,000
5| KA 1,295,000
6|E W 6,275,000
1m7IVTRH 3,402,500
8ldtAth 15,589,000
9| 1,058,000
10| BT 4,335,000
1| EERE™ 3,190,000
12| 5,991,500
13| R 585,000
14| 1| =480 ET 2,570,000
15| 8 )1 BT 810,000
16| 5 ZEET 7,971,500
17|Fa#RET 2,553,000
18| = L JIIET 3,282,500
19| E&A 1,627,500
20| FaAEHET 562,500
212+ 450,000
22|l iR 562,500
23|I R A 1,492,500
24| = L3 O GHAET 3,675,000
25(/NEFT 367,500
26| FHK LA 880,000
27%1%E$%:7ﬁ%% 1,500,000

EEMERERS




